Session Content:

. Uncertain Linear With Variable

. Coded Direction

. Year Based Puzzle With Variable

. Blood Relation Puzzle

. Coded Inequalities

. Alphabet-Letter Arrangement

. Syllogism

. Month-Date Puzzle With Variable
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Certain number of persons are sitting in a row facing north direction . Each of them live in a different state
,but not more than 22. Three person sit between P and S. R sits fifth to the right of Q. The person who lives
in Assam sits fourth to the right of P. Q sits to the immediate left of the person who lives in Rajasthan. S sits
seventh from the extreme left end. The person who lives in Rajasthan sits sixth to the right of the person
who lives in Assam. R lives in Punjab. The person who lives in Rajasthan sits seventh to the left of the person
who lives in Haryana.
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Q. Minimum how many persons are sitting in a row ?

Q. S belongs to which state ?

Q. How many person sits between Rajasthan and Haryana ?

Q. How many persons sits to the left of P ?

Q. If the person from Haryana sits second from the right end

then how many persons sits in the row ?




Certain number of persons are sitting in a row facing north direction . Each of them live in a different state ,but
not more than 22. Three person sit between P and S. R sits fifth to the right of Q. The person who lives in Assam
sits fourth to the right of P. Q sits to the immediate left of the person who lives in Rajasthan. S sits seventh from
the extreme left end. The person who lives in Rajasthan sits sixth to the right of the person who lives in Assam.
Nine person sit between the person who lives in Assam and R who lives in Punjab. The person who lives in
Rajasthan sits seventh to the left of the person who lives in Haryana.



P A Q (23) means P is 26 m in south of Q.

P & Q(27) means P is 22 m in east of Q.

P # Q (21) means P is 18 m in north of Q.

P * Q (24) means P is 28 m in west of Q.

PAQ(23)FT T & PQF a'ﬁ?ror # 26 Hex B
P&Q(27)F 314 ¥ P QF @ 2 2 #Hiex g1
P#Q(21)FT T & Q¥ 3T & 18 #Aex
P*Q(24)®T T & PQF ‘Tﬁ?m' # 28 #Hex g

X#P(39), T&S(31), WAY(21), Y& X (24), R* P (17), V* U (20), U S (15), S & P (19), Q # R (21)



What is the shortest distance between W and S and what is the position of W with respectto S ?
W3R sF fiT ga@ a1 gft F1 § 3R sF weast H wEH TUS FAT 37

A -8 m, north

B-12 m, north

C-13 m, northeast

D - 16 m, northwest

E — None of these

What is the position of V with respectto P ?
P& Feast & V& TA F4T &7

A — North east

B — South west

C - North

D — west

E — None of these



If a person walks 30 m towards south from Y and then takes a right turn of 25 m, then what is the position of R
with respect to that person ?

Ifg v sgfFa v @ gf@ror dr 3 30 #Aex Foar ¥ 3R W 25 Aex F qrr Agzar B, O 3w =Fa
& W H RFT TUT F4T 872

A - South

B — West

C - South west

D — North west

E — None of these

If Siya walks 18 m towards west from point S and then takes a left turn of 6 m, then what is the distance between
Siya and point V ?

IR RAgsTaRaT MR 18 A aeR IR T 6 AT aw gz g, A R_w sk Mg v F
dr Y g Far 37



A to H are members of a three generation family in which there are three married couples. Either both or
none of the parents are alive. H’s father is the brother of E, who is the only daughter of D. F’s husband is
the son of B’s brother. A is the father of B, who is the brother in law of F’s mother in law. C and E are
sisters in law of each other.

A ¥ H T die A & aiarR & degeg § wd e faafea a1 &1 ar ar Q=1 a1 #Aa-Rar &
& ;S oft AT «1dt 81 H 1 e £ w7 91$ B, A D H swald T T F F1o9fa, B F oS @
qF §1 A, BFH Rar §, St FAY w1 F G@Shen ¥ el evw g A s

Q How many persons are there in the second generation ?

Q. How is G relatedto D ?

Q. Howis Crelated to F ?



Which of the following conclusion does not follow: [aAFATTET H & hieT IT IGAEN W o_-lﬁ
T §:

Statements:
All whatsapp are instagram FUT-
Only a few instagram are facebook

mﬁ SgICHUY $<-<:|cu|a+ g
shdol P STCEH HhAgH &

Conclusions:
I.  Some whatsapp can be facebook
Il.  No whatsappl is facebook sy

FO TEICHTY Lbudch gl g &
A—Only | FE cEICHTT ‘-h{-ldch el &
B—Only Il
C—-Both
D — None
E — None of these




Which of the following conclusion does not follow: TAFATATET H & Hid IT AhHy W
A6l T &
Statements:

Only a few apple are mango EFQFI"

No mango is guava chcloi cha '\’EITSl' %_
Conclusions: El'flé' 3-TITI' AHRS ;‘ﬁ %-

I.  No guavais apple
Il.  Some apple can be guava sy

S ARG A9 AT &
A~ Only | $G U HATE 8 Hhd o
B—Onlyll 2
C—-Both
D — None

E — None of these




Which of the following conclusion does not follow:

Statements:

Few winter are summer
Only summer are spring
No rainy is winter

Few ice are rainy

Only a few fog are winter

Conclusions:

.  Some summer are not rainy

Il. No fog is rainy

lll.  Some ice can never be summer

A—Only |
B—Onlyll
C - Both

D — None

E — None of these

frAfaf@d & & i ar Ty sregeror 78
AT &
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Which of the following conclusion does not follow: fFafaf@a &7 @ sia ar Ty 3-T<T-|'F|TUT Tal

T &
Statements:
Only apple are mango :
Some apple are orange hdel HT 37 §
Only a few orange are pineapple W ad W 2
Few pineapple are kiwi chd(ﬂ TS Il A &
No kiwi is apple S 3-|o-||o-|N-I $rdr &
S P Yo FAET ¥
Conclusions:
|.  Some apple are not kiwi IGACAE
Il. Some pineapple are not apple W A hrdr FI?I‘ %’
lll.  Some orange can never be kiwi chtss 3-|o-||o-|N-I ad o_-l'éT %}
m T et Hidr AT & Tha &
A—Only |
B—Only Il
C - Both
D —None

E — None of these
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ggeol Uer 8T g |cwafJ:rH@rt|3€rg3ﬂ%|

Q. In which year A was born and which Colour he likes ?
Q. Who likes silver colour ?

Q. Who likes green colour ?

Q. Who was born in 1999 ?

Q. B likes which colour ?
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A, B, C,D,E, F G andH likes different colours namely Maroon, Silver, Pink, Green, Red, Orange, Brown and
Black, not necessarily in the same order. Each of them were born in different years 1978, 1980, 1984,
1987, 1993, 1995, 1999 and 2003, not necessarily in the same order. The one who like brown colour does
not born immediately before or immediately after the one who like silver colour and also does not born
before the one who like pink colour. B is the eldest person and the one who like green colour does not
born in a leap year. E likes either black or brown colour. The one who like red colour born before the one
who like green colour. H born in a leap year but not after A and D. A and F does not like red colour. Neither
G nor F likes green colour. Neither G nor C likes brown colour. C does not born immediately before the one
who like silver colour nor black colour. G does not like pink colour and H does not like red colour. The one
who like silver colour born in 1993. Only two person born between the one who like silver colour and D,
who like orange colour. E neither likes brown colour nor red colour. Number of person born before D is
equal to the number of person born after the one who like maroon colour. The one who like pink colour
born in a leap year and immediately before E. C born before H.

Q. In which year A was born and which colour he likes ?

Q. Who likes silver colour ?

Q. Who likes green colour ?

Q. Who was born in 1999 ?

Q. B likes which colour ?



A,B,C,D,E, F G and H likes different colours namely Maroon, Silver, Pink, Green, Red, Orange, Brown and Black, not necessarily in the same
order. Each of them were born in different years 1978, 1980, 1984, 1987, 1993, 1995, 1999 and 2003, not necessarily in the same order. The
one who like brown colour does not born immediately before or immediately after the one who like silver colour and also does not born
before the one who like pink colour. B is the eldest person and the one who like green colour does not born in a leap year. E likes either black
or brown colour. The one who like red colour born before the one who like green colour. H born in a leap year but not after either A or D. A
or F does not like red colour. Neither G nor F likes green colour. Neither G nor C likes brown colour. C does not born immediately before the
one who like silver colour nor black colour. G does not like pink colour and H does not like red colour. The one who like silver colour born in
1993. Only two person born between the one who like silver colour and D, who like orange colour. E neither likes brown colour nor red
colour. Number of person born before D is equal to the number of person born after the one who like maroon colour. The one who like pink
colour born in a leap year and immediately before E. C born before H.



A N B means A is neither smaller than nor equal to B
A ( B means A is neither equal to nor greater than B

A # B means A is neither smaller than nor greater than B

A % B means A is not smaller than B
A * B means A is not greater than B

Which of the following conclusion is/are follows:

Statements:
S#N;N%Q;Q(C CME
Conclusions:

. Q(S

. Q#S

. E(N

A. Only Il follows

moOw

Only Il follows
Only | follows
None follows
None of these

ANBEHT 3 A BA o Al BIcT g AR o & R &
Q(me&%AHa’rBésw%‘aﬂTaﬁrw@rasT

AHBFT IT g ABIT T BT g 3R T grasr g
A%BT 37T A BH BT oAeT &
A*BEHT 3T & A BY 93T o18T &

fof@a & O aila ara sy Aafafaa &8



A N B means A is neither smaller than nor equal to B
A ( B means A is neither equal to nor greater than B
A # B means A is neither smaller than nor greater th
A % B means A is not smaller than B
A * B means A is not greater than B

Which of the following conclusion is/are follows:
Statements:
C(Z,Z*N; N "E;E%Y
Conclusions:

. Y(N

. C(N

. z*y

A. Only Il follows

Only | follows

Only I and Il follows
All follows

None of these

moOw

anB

ANBEHT 3 A BA o Al BIcT g AR o & R &
Q(me&%AHa’rBésw%‘aﬂTaﬁrw@rasT

AHBFT IT g ABIT T BT g 3R T grasr g
A%BT 37T A BH BT oAeT &
A*BEHT 3T & A BY 93T o18T &

fof@a & O aila ara sy Aafafaa &8



A N B means A is neither smaller than nor equal to B
A ( B means A is neither equal to nor greater than B

A # B means A is neither smaller than nor greater than B

A % B means A is not smaller than B
A * B means A is not greater than B

Which of the following conclusion is/are follows:

Statements:
H*U,U#S,;S(Z,Z%Y
Conclusions:

l. Z"NH

. S%H

. u(z

A. Only Il follows

moOw

Only Il follows
Only | follows
None follows
None of these

ANBEHT 3 A BA o Al BIcT g AR o & R &
Q(me&%AHa’rBésw%‘aﬂTaﬁrw@rasT

AHBFT IT g ABIT T BT g 3R T grasr g
A%BT 37T A BH BT oAeT &
A*BEHT 3T & A BY 93T o18T &

fof@a & O aila ara sy Aafafaa &8



Following the given steps, a six letter meaningful word can be formed (six different letters). At
least two letters were written between R and L. N and A were not written next to each other. L
was written at an end. E was written second from the left end. N was written to the immediate
left of T. At least one letter is written to the right of A. How many letters were there between N
and L?

fCU 1T RO &7 9Tl R 8T, Teh Sg 318N HT TS s (B TAI-3TeA9T 36
AT ST TRl &1 R 3R L & &FT A F A al 38R o 9w I N 3R A t&F gl
& ST H Gl Tl T A| of 3d H for@r 41l E Y 90 B8R § gl T W fel@n
IGT ATI N R T o 8k 1 ToI@r a7 A7l A & GRIT 31X A 8 A Th &R fodr
T ATl N 3R LF §g Fde 316’ 42

wWwN =

. More than 3

A
B.
C.
D
E. Can’t be determined as more than one meaningful word can be formed



Following the given steps, a six letter meaningful word can be formed (six different letters). At
least two letters were written between R and L. N and A were not written next to each other. L
was written at an end. E was written second from the left end. N was written to the immediate
left of T. At least one letter is written to the right of A. How many letters were there between N

andL?



Nine persons were born on three different dates i.e. 15t, 4t and 6% in three different months i.e. May, June
and July. W and S were born on different dates. P, who likes blue colour and the person who likes black
colour were born on same date. Q was born on 1%t June just before the person who likes red. The person
who likes brown was born after the person who likes pink. The person who was born last likes purple. U who
does not like cherry was born before X. Three person were born between S and the person who likes cherry,
who was born after S. T does not like cherry and purple. W was born just before R, who does not like cherry
and purple. V was born just after the person who likes white. The person who likes black was born just
before the person who likes yellow. Two person were born between T and the person who likes white, who
was born before T.
ofleT JTOT-37el9T FEIAl Il A, Sfd AR Sfells A At AP T Fod fleT IT-37el9T dRIE
I ggel, atelr 3R o O™ g3 ATl W 3R S T STeH 3MeleT-31e] Frm@‘rafrgmml P,
Arer W1 wdg ¢ 3R Fw afead ol Fren {dl qde g, wmwﬁmaﬁgmml Q
SeH 1 ST T o T 3G e dTel SOiFd & &b Ugel g3 ATl T {1 gEe Gh{o-l arel
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# g3 ¥ 30 dolr 1 e ¥ U R 9l weE 1 ¥ SEeT oew X & deer g Tl A cafEd
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’ ?&aqﬁ?ﬁggmmmﬁfraﬂ?mwmaﬁ%lvw
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Q. The person who was born on 15t July likes which colour ?
Black

Blue

Brown

Yellow

Pink

moO®>

. How many person born after T ?
Two

Three

Four

Five

Six

mMoO®>P

. How many person were born between the person who likes white and R ?
Two

Six

Five

Four

None of these

Moo ®E>PO
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